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General Instructions :

(1) The question paper comprises of two sections, A and B. You are to
attempt both the sections.

(it)  All questions are compulsory.

(iit) There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Questions number 1 to 4 in Section A are one mark questions.
These are to be answered in one word or one sentence.

(vi) Questions number § to 13 in Section A are two mark questions.
These are to be answered in about 30 words each.

(vii) Questions number 14 to 22 in Section A are three mark questions.
These are to be answered in about 50 words each.

(viit) Questions number 23 to 25 in Section A are five mark questions.
These are to be answered in about 70 words each.

(ix) Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one mark
question. You are to select one most appropriate response out of the
four provided to you.
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SECTION A
HET A

1. Draw the structure for ethanoic acid molecule, CHSCOOH. d
UHIsE I 3], CH,COOH & &%= fafia Fifg |

2. Give an example of a phenomenon where Tyndall effect can be

observed. 1
59 ufmes # e ywE & @1 ST 9% 394 & 3R] ST |
3. What is meant by biological magnification ? 1

Sifers smadT &1 = 31 @ar 7 2

4. Give an example to illustrate that indiscriminate use of pesticides may
result in the degradation of the environment. d
o8 feam & fau & desawe &1 oriftd YA TR aeR & e &
Al 8, FE TH I U |

5. How does the valency of elements vary (i) in going down a group, and
(ii) in going from left to right in a period of the periodic table ? 2
Fad arolt #F axal # Gl § &9 uRedT 8 R,
() O aidswIIoamd?
(i) fE oad § A § QO W F ?

6. In the modern periodic table, the element Calcium (atomic number =
20) is surrounded by elements with atomic numbers 12, 19, 21 and 38.
Which of these elements has physical and chemical properties
resembling those of Calcium and why ? 2
ayfh emed Wil § o FfewEw (WA e = 20), WA I qw@ &
TN FEE 12, 19, 21 3R 38 F | ¢ T ¥ fAue s ok vwmf o
g ¥ frerd-sea 2 ek @t 2

7. State any four characteristics of the image of an object formed by a
plane mirror. 2

Toad < g & fam & saw v gfafee & @ IR faemad fafew |

8. Draw a ray diagram to show the refraction of light through a glass
prism. Mark on it (a) the incident ray, (b) the emergent ray and (c) the
angle of deviation. 2
TF FY & 559 50 YHN F 3UEdd & fEH & fav ww faer oy 9wy | 3@
for W 3ifea FifST (%) aafaa faon, (@) farfa faeeor & (1) fame @i |
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10.

11.

12.

13.

14.
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Explain with the help of a diagram, how we are able to observe the
sunrise about two minutes before the sun gets above the horizon.

& o o W FVe 5 79 R TR gk & arae § gl % ffes 9
FRIM & R e & @ od ¢ |

List any four reasons for vegetative propagation being practised in the
growth of some type of plants.

@W%%%Eﬁ?ﬁ?ﬂm(Vegetatlve)mﬁ'—fqﬁrﬁéﬁ‘%‘ﬂlﬁéaﬂm
fafaw |

Describe the role of fallopian tubes in the female reproductive system.

e W 9 SelifiEA-afaet # i & gl i |

List any four disadvantages of using fossil fuels for the production of
energy.

mm%mwm%m ¢ IR Tl fefew |

Give two examples each of the following :
(i) Renewable sources of energy

(ii) Non-renewable sources of energy

m@aﬁﬁm%maawm

) ol é; EEIETuiE {’ild

(11) o1l & SHERUIE Eid _

Write chemical equations for what happens when
1) sodium metal is added to ethanoic acid.
(i1)  solid sodium carbonate is added to ethanoic acid.

(iii) ethanoic acid reacts with a dilute solution of sodium hydroxide.
Frefefian Rafedl % < 2 2, 3o e TR WEOT R

() s I H Wifeaw wig F sren S g | .

(i) RS v § 3N Wifeaw FEiAe S Sl § |

(iii) TSR =T Qe TEEENES & foagd & Wy fufEa &% 7 |
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15. The atomic number of an element is 16. Predict
(i) the number of valence electrons in its atom
(i)  its valency
(iii) its group number
(iv) whether it is a metal or a non-metal
(v) the nature of oxide formed by it
(vi) the formula of its chloride 3

@aﬁwmm 16 2 twﬁﬁﬂaﬁm&ﬂﬁfm
(i)  T9% O] § S soeeEl & 6e

(i) 3H& GISTHA

(iii) 9% T F HY

(iv) I8 91g 8N ST¥al 37HIg

(v) 399 W< oifeEs & Na(d

(vi) 9% FAES G

16. An object is placed between infinity and the pole of a convex mirror.
Draw a ray diagram and also state the position, the relative size and
the nature of the image formed. 3
@ﬁmﬁwmzﬁm%maﬁtaﬁ(tﬁa)%aﬁar@w% | 35 fafg §
Tduy g ST U SfafrE & foau o fam eann iR vfafee & faww § adru
— 3ue ffd, SO 9Ny SR 3R I9E Y9 |

17. What is the principle of reversibility of light ? Show that the incident
ray of light is parallel to the emergent ray of llght when light falls
obliquely on a side of a rectangular glass slab. 3

YEHIYT & SaeaviEal (reversibility) &1 gm0 & 2 ? culzu f5 S@ e foRor
frel SRR FHEE 9 & TF a0 R O fad @t @ o smfaa v R
fopfa werrer foor & go=R BN 2

18. What eye defect is myopia ? Describe with a neat diagram how this
defect of vision can be corrected by using a suitable lens. <]
frre off O SHW T A 8 ? & WP o T weemRe 6 3fed o @
W+ 39 W AN w1 frare e 1 Wear €

19. What does HIV stand for ? Is AIDS an infectious disease ? List any
~ four modes of spreading AIDS. ' 3
HIV 1 qf¥d &%l @ ? 97 AIDS T& Ushms U7 8 ? AIDS & Thed & &%
R fafyar geies i |
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20.

21.
22,

23.

24.

311

Describe any three ways in which individuals with a particular trait
may increase in population.

#E I U fafEdl @ avia @i R e famw T (fsiess) ar =fs stoer
G H G TG Fhd © |

State the evidence we have for the origin of life from inanimate matter.

frsifa qerd @ Sfee 9O 29 & 3UCE YHIUT & Seoi@ ST |

What are fossils ? What do they tell us about the process of evolution ?

SeTed R Bid & 2 4 fawry wEa & fowg § g6 9 waa & ?

(a) State two properties of carbon which lead to a very large number

of carbon compounds.

(b) Why does micelle formation take place when soap is added to
water 7 Why are micelles not formed when soap is added to
ethanol ?

OR

Explain isomerism. State any four characteristics of isomers. Draw
the structures of possible isomers of butane, C,H,,.

(%) FET & T TH TON & Ieor@ ST ST g9 AR H T F A i
A E |
(@) 9 §EF # 9 ¥ fremr S @ @ sEe {8 (micelle) F A § 2
A ® wHE § e ¥ il ®& A e 2
FoaT

qUIEFE 1 AR FIC | GHEEfE S i ¥R fwmand fafee | =29 (C,H, )
& gNE gAEEedl S f9fha Fiew |

(a) What is meant by ‘power of a lens’ ?
(b)  State and define the S.I. unit of power of a lens.

(¢) A convex lens of focal length 25 ¢cm and a concave lens of focal
length 10 cm are placed in close contact with each other.
Calculate the lens power of this combination.

OR



(a) Draw a ray diagram to show the formation of image of an object
placed between infinity and the optical centre of a concave lens.

(b) A concave lens of focal length 15 ¢cm forms an image 10 cm from
the lens.

Calculate

(i) the distance of the object from the lens

(ii)) the magnification for the image formed

(iii) the nature of the image formed 5

(F) AW F GHA (TR) F A G @R 2

(@) o9 F gHaT & S.I "ES & A9 91 g fafew |

() WY g 25 I F IO AW SN WEHE g 10 I F A o9
TH-gR & 31fd e Siga @@ 7 7 | 39 FASE & fau 9= 3 emar @
ReRferd FIfeT | i "

1o

(F) UF 3@ o9 & JHIYE &% 3R o< & & @ fom &1 sidfas a4
feam & fau s fewr foe s9RT |

(@) WS 15 99 & F IEad oW A9 ¥ 10 I g W wfafrs s
2|
Ifieferd Sifse
() =9 fama gl
(i) = yfafee & fow emads
Gii) ST S @ S

25. With the help of suitable diagrams, explain the various steps of

budding in Hydra. 5
OR

What is binary fission in organisms ? With the help of suitable

diagrams, describe the mode of reproduction in Amoeba. 5

3faa fodll @ Wear € FRSl (Hydra) & U5 (Soamn) & fafis =xoi @t =
FiT |

Irgar
Stei # fg-@vea (binary fission) BFT #21 &l € 2 3fu ool & Gerwar ¥ sl
¥ YS9 SfRaT & Ui HIfST |

31/1 ' 7 Pal9:




26.

27.

31/1

SECTION B
qr

To find the focal length of a concave mirror, Sita should choose which
one of the following set-ups ? -

(A) A mirror holder and a screen holder

(B) A screen holder and a scale

(C) A mirror holder, a screen holder and a scale

(D) A screen, a mirror, holders for them and a scale

TS 3Fad UV B BIFEH T TG FE & fau dar F e oEenel § 9 e
T AW 2

@A) T T e ok T e e

(B) T T ¥S 3R & &

(C) TUH ciol €, TF Q& ©g 3R T &l

(D) T& W, T U0, 3% faq €T 3R & @

By using a convex lens, a student obtained a sharp image of his
class-room window grill on a screen. In which direction should he move
the lens to focus a distant tree instead of the grill ?

(A) Towards the screen

(B) Away from the screen

(C) Very far away from the screen
(D) Behind the screen

A A H T W TE BH A S FE-H § w0 fEge & fd w1 owm
(dram) Yofos & K R AW 5 | B9 % wWR T TS T 9§ # St
THsd (FE) FE & T 39 # a9 & oy foor & fagemn am ?

(A) T @ IR

B) WII
(C) wWIHT R
D) w©F



28.

29.

31/1

To determine the focal length of a convex lens by obtaining a sharp
image of a distant object, the following steps were suggested which are
not in proper sequence :

L Hold the lens between the object and the screen.

10 .+ Adjust the position of the lens to form a sharp image.
III.  Select a suitable distant object.

IV. Measure the distance between the lens and the screen.

The correct sequence of steps to determine the focal length of the
lens is

(A); SSEEE [ IV (B) I, I, IV, I
@ HLIV, I 1 (D) L II, IIL, IV

W Q& fam F we (dan) wfdfaE W R TS 39d o @ Bied g 9|
R F WHT & W G fae § W e wW 3w g

I o9 @ fiw 3k & & 9 F@u |

II. o9 & 9F 3% W Wy Jafes T Hifaw |

M. s 3 g = fa 9w |

IV. o9 3R & & a9 & g " |

o F Wi g feiRa &9 % T =l & W@ w e

@ OLL I IV (B) I, I, IV, II

(C)="“HIL IV, IL, T ) LI 0L IV

In these diagrams, the angle of refraction r has been correctly marked
in which diagram ?

Ty £ ¥

s L I A \

! B AN o
o I 111 v
A ] - (B) II
()11 D) IV
9 P.T.O.




3 agfadl § ¥ f5E sgfa § smada-R ¢ & wE sifed e w8 2

R e : e g i
RS BR
g A . Iy ~
I II II1 v

A) 1 (B) II

€ I (D) IV

30. For a ray of light passing through a glass slab

the lateral displacement was correctly measured as
(A) AB (B) PQ

(C) CD (D) PR

FY FH T F A TF YHY RO oA & faw e & uifes fawumgs @i
JF T w OWE

(A) AB (B) PQ
(C) CD (D) PR

31/1 10




31. Iron nails were dipped in an aqueous solution of copper sulphate. After
about 30 minutes, it was observed that the colour of the solution
changed from 1

(A) colourless to light green.

(B)  blue to light green.

(C)  Dblue to colourless.

(D) green to blue.

HR Gohe & Solg faog § iR & Fidl B gaEr @ | @ 30 e sw,
7 <@ T fF faerm @ @

(A) V@A ¥ TR T @ O |

(B) it ¥ & &0 @ T |

(C) o F THA & T |

(D) W ¥ Few & T

32. A cleaned aluminium foil was placed in an aqueous solution of zinc
sulphate. When the aluminium foil was taken out of the zinc sulphate
solution after 15 minutes, its surface was found to be coated with a
silvery grey deposit. From the above observation it can be concluded
that 1

(A) aluminium is more reactive than zinc.
(B) zinc is more reactive than aluminium.
(C) zinc and aluminium both are equally reactive.

(D) zinc and aluminium both are non-reactive.

T & 9% TR @ 5% Geke & Sog fowm § wn @ | §. 15 fime
I, TfEfEm & TR # 5 Seke & faaen ¥ feen T @ 39e 9a @
G A R () T & WA § TH A T | 39 AT 9 I8 gRomH e
SIS

(A) Uffem e ¥ srfus framie & |

(B) f= Uqfafam ¥ sifues framie &

(C) fo oik Yegfufem A1 qom w9 § Grareliar € |

(D) for o Uegfafem aFf aifFg €
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f

33. Vapours of acetic acid smell

(A) pungent like vinegar.
(B) sweet like rose.
(C) suffocating like sulphur dioxide.

(D) odourless like water.
Ydfes anct & o @ T A 2
(A) ﬁﬂ% S A |

(B) oW S S |

(C) UeH TRIFEES S T g A |
(D) & & TR |

34. Acetic acid reacts with solid sodium hydrogen carbonate

(A) slowly forming no gas.
(B) vigorously with effervescence.
(C) slowly without effervescence.

(D) vigorously without gas formation.

s o 319 WA FEESHE FEAE U SAAGHAT FT

(A) -dR famr A9 SA |
(B) ¥gd o ¥ JeIERE F WA |
C) - AT FeEEEE ¥ |

(D) =gd dmar ¥ fF W A |
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35. A student added acetic acid to test tubes I, II, III and IV containing
the labelled substances and then brought a burning splinter near the

31/1

mouth of each test tube.

The splinter would be

I
NaOH
test tube
@A) I
@) I
©) I
O IV

NaHCO3

extinguished when brought near the mouth of

FHifed ged wad At e wEAtaEr I I I 3R IV § Us B g UdERw
Wﬁwwaﬁ?ﬁﬂ@dma@Fﬁd%ﬁ%@dﬂﬂ@i%%%%ﬁﬂﬂl

g wEell & Hg & 9 @ W ol o g3 ST ?

I
NaOH
Ay T
@)1
() 11
D) IV

Iir

NaHCO3

13

PO




36. The shape of yeast cell is
(A) only spherical.
(B) only oval.
(C) irregular.
(D) both oval and spherical.
TR () ¥ F A A
(A) &I MAFR |
(B) wad JE@K |
©) eg-mEg () |
(D) @R R MR 4 |

37. The steps involved in observing a slide under a microscope are given
below. They are not in proper sequence.

| B Focus the object under high power of the microscope.
II. Place the slide on the stage of the microscope.
ITII. Arrange the mirror to reflect maximum light to the slide.

IV.  Focus the object under low power of the microscope.

The proper sequence of steps is

(A H 4ll.1V. 1

(By .. L IL JIL IV

7 DR 105 i 3 PR )

3 5 TR ¢ P S O 5 4 _
& wEe @ geuedlt # @A F W A9 ol ¥, v S w9 9l R |
I e & ARl & 399 &l (TR) W Biead i |
II. WRE & FEoeyl & €9 | F@ |

1. o 9o it frafed = wEs | i ywm s |
IV.  fom & gyl &t f goa W s S |

O F WE FHA B

(A) - IL O IV X

(B) EH HLJIV

() . IV. L 1.1

5 ) RS 3 U 15 W3 D L4
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38. The given figures illustrate binary fission in Amoeba in improper

dY @ e e

The correct order is : &
Ak IV, 11, 1 :
(B)- IV, 11 111

Gy I 01 IV 1

) T DA B N T 1

§ T orfadt F ovfer & fg-wved @ smfed ww <A M 2 |

OERCONONCS

& F9 W

(&) HL IV, 0%
B). TV LI 1
() ILIILIV,I
® L BLIV, I

39. During the course of an experiment, ‘to determine the percentage of
water absorbed by raising’, raisins are weighed 1

(A) every half an hour.

(B) every hour. :

(C) once —only after completing the experiment.

(D) two times — before soaking and after soaking for three hours.

Trufae & TF g0 Wifa ST &1 sfaed 9@ & F ¥3 H 39 gE ® drenr S
2

(A) & 319 gve 3T |

(B) & U2 IR |

(C) I U & 99 W HId TH IR |

(D) @ &R, A ¥ o 3R d9 902 9% fmE & 3 |

31/1 15 P.T.0.



40.

41.

31/1

The colour of raisins as used in the experiment, ‘to determine the
percentage of water absorbed by raisins’ was

(A)  white

(B)  yellow

(C) dark brown
(D) pink

frufry & Tl g0 Mfvd S 1 afove I S & JE H e v & el
& 1 8 7

(A)  vod

(B) e

(C) TRU ¥
(D) e

Following are the steps involved in the experiment ‘to determine the
percentage of water absorbed by raisins’. They are not in proper
sequence. '

T Soak the raisins in fresh water.
II. Weigh dry raisins.

III. Weigh soaked raisins.

IV.  Wipe out soaked raisins.

The correct sequence of steps is
A LaLgll IV
B I,.1.3V, Ml
). . I, I, I3, IV
) ;L LIV, B

‘frufae & <Al g0 T S & S 39 &9 %Fréﬁﬂﬁ”idlsﬂ =7 fefatad
¥, W T TR %9 3lE @ R |

I foufaw & <& &t O o § fd |
II. g frufry & gH & del |
1. <9 frofaer & <& &t @l |
IV. o fufge & <@ 9 98 |
Wl #w 3fud wWoam
67 FO W B I 5 e 4
@) LI TV
© I 1,100, IV
5 B 3 Il ie & B B 11 ]
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